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( Introduction to Environmental Economics )

Full Marks : 60
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The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Answer the following questions :

weTe fel ey Tes for

(@)

(b)

(c)

(d)

(e)
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1x7=7

Write the meaning of public good.

reredl w95 oY fore |

Define environmental economics.

“Afca WA vise i |
What is meant by externality?

el Jfer & e 2

Point out one important objective of

environmental economics.

“fReA w2AieT qb1 T3 Tooe Sgferz fam |

Write the meaning of free riding.

T& Az o fas |
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(2)

()’ What is the shape of env1ronmenta_1
Kuznets curve?

AR FECABY AR S a1 2
(g9 Which goods do not have the
characteristic of divisibility?

mﬂmw%\?@ﬁmhﬁﬁtﬁwﬁ?

2. Answer the following questions : 2x4=8
T frAl e e ford
(@) Show how air is a public good.
.S I Ry e G |
(b) Mention two characteristics of public
good.
e TR Ko1 CAfEs Seard 4 |
fc) Give two examples of public bad.
et SEFRE 7o1 SIRae i |

(d) Write two impacts of population growth
on environment.

AR @oqe SR i@ 101 @) &1 |

3. Answer any three of the following questions :

5x3=15
wers i R e fofbt o Toa forn

(a) Explain the nature of environmental
economics.
AR we@fer 2 < 41 |
(b) Write ‘the differences between public
good and private good.
g@;—m T [ GRS TN G AILFPTR
|
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()

(d)

(e)

(3)

Discuss briefly environmental Kuznets

curve.
ﬁﬁtﬁqmﬁwmmw
340 |

Explain the main causes of climate
change.

TR RSG5 FRPTR T 47 |

Write briefly the command and control
policies of pollution control.

Wqﬁmwwwmﬁ%ﬁm
B fera |

4. Answer any three of the following questions :

10x3=30

were fadl & e oG o Sex fovey

_(a}‘_‘

(b)

(c)
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Discuss the interlinkage between

economy ang environment. 10

- HAfe wF R R e e

ESIN

‘Explajn the causes that lead to market

failure in an economy. Can the problem
of market failure be solved? 5+5

@ gifee IR RFsor FEPRR TR
91| T [FeTeE T A Fi AR 2

Discuss the concept of ‘tragedy of
commons’ with suitable examples. 10
THE TR ARG TR O
O1" {IRENICH! SCeATsAl 41 |
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(.4) P

(d) What are the incentive-based policies of
pollution control? Mention their
advantages and disadvantages. 5+5

AR Frgm SoTmmesies Afeme & &2
GRS R S PR ey 4 |

(e) Analyze the consequences of global
warming. Suggest measures to mitigate
this problem. 5+5
(IR THoR FaRerTz Remd w4 o3
ST AR M0 ~R_T ST |

() Distinguish between positive and
negative externalities. Point out the
relationship between public goods and
externalities. 7+3
NS SE 4Ne AR qe] el o
]| I G WE ARFOR WS HIT
Seferna fia | )
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